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PAU 2001

Pautes de correccié LOGSE: Tecnologia industrial

Série 2 PAAU-LOGSE Curs 2000-2001 TECNOLOGIA INDUSTRIAL

Primera part
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Segona part

OPCIO A
Exercici 3

a) |y = 12-5 = 12:300 / 220 = 16,36 A

b) cost = ¢ E;yy = C Pigta t =C U Iy t = 0,08-220-16,36:5 / 1000 = 1,44 EUR

c) Pyos = 52220 UZg = 232%02 1252 =96,85 W
220
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Exercici 4
a) lg=11+2 Igcosa=2,4+2-0,8~§:3,786 m
F F
. mg
b 2Fsinac—-mg=0 = F = =1500 N
) | mg g 2sina
C) T:E: E = 1502 =76,39 MPa
S nd“/4 10,005°/4
OPCIO B
Exercici 3
a) o =0,05U=0,0524 =1,2Nm
b) I,;,=0,06U -0,0024 =0 - o= 0,05 = 0,05-24 =500rad/s
0,0024 0,0024
n=200-60 _ 4775 mint
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Exercici 4

a) P,=P,n=cp,n =8320,36 =92,16 MW

P. _ 9216-10°
V83U cosp +/3110-10% 0,95

C) Cqop =Ct=812-3600 = 345,6-10% kg = 345,6 t
E =P,t=92,16-103-12 =1,106-106 kW h

b) I= =509,2 A
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